
Prüfungsaufgaben Aufgabe 196 

 

 



1.1 

 

Im Dreieck ABC gilt: 

 
                    AC     6 cm 

tan ∡ CBA = ---- = ------ = 1,5 --> ∡ CBA = 56,31° 

                    CB     4 cm  
 

1.2 

 

In einem beliebigen Dreieck CPB gilt: 
 

∡ CPB = 180° - φ - 56,31° 

 

sin ∡ CPB = sin (180° - (φ + 56,31°)) = sin (φ + 56,31°) 

 
Sinussatz: 

  
     PB(φ)                   BC 

------------ = -------------------- | sin 56,31° 
sin 56,31°      sin (φ + 56,31°)  

 
             BC * sin 56,31°       4 cm * sin 56,31°           3,33 cm  

PB(φ) = -------------------- = ---------------------- = ----------------- 

             sin(φ + 56,31°)        sin (φ + 56,31°)        sin (φ + 56,31°)                 
 

 
V(φ) = 0,5 * PB(φ) * BC * sin φ * BS 

 
                         3,33 cm    

           0,5 * -------------------- * 4 cm * sin φ * 7 cm 
                     sin (φ + 56,31°) 

V(φ) = -------------------------------------------------------  
                                               3  

 
              15,54 * sin φ    

V(φ) = -------------------- cm³ 

           sin (φ + 56,31°) 

 

1.3 

 

Für dieses Dreieck gilt φ = 56,31° 
 

In V(φ) eingesetzt: 
 

          15,54 * sin 56,31° 
V = -------------------------- = 14,01 cm³ 

        sin (56,31° + 56,31°)   


